BERHZFE III — FEANT ML - ZEXT ML 2009.9.28 (1B : {£fk)

O F—7—R: N, X7 Lo, 22HX7 FLosbk

BlE 1.4. RORT Pl u,v D (i) BZ |ul,|v], (i) A u-v B (ili) u & v Dk
T 0 DRIL (cos ) DIEZ KD % I\,

(1) u:(lv\/§)7 U:(—2,2\/§)
(2) a=(53), b=(2,0) IZXL, u=a—2b, v=—-a+7b
(3) a=(2,0,1), b=(1,-1,3) I L, u=2a—b, v=—-2a—->b

I 1.5. ROZEMRT PV a,b D a x b ZEBLEI ., 72, N (axb)-a
BEXW (axb) bEFHLEI O,

(1)
(2)

BRE 1.6. a = (1,2,3), b= (2,-1,1), ¢ =(3,1,-2) Iax L, RZFHEHLEI

(2,0,1), b= (1,—1,3)

a
a=(1,-1,0), b=(2,-1,3)

(1) ax (bxc)
(2) (axb)xe
(3) (a-¢c)b—(a-b)c

B 1.7. ROZEMRXZ Pl a,blZ®L, a & bDOMHFIZERL, EZB1DOXT7 L E
WRDE I\,

(1,1,1), b= (2,—1,0)

(1) a
a=(3,01), b=(1,2,2)

(2)

. 1
PIEE 1.8. X7 bba, b% 20T 2 SAMOMEEDY SV]al2 b2 — (a )2 IFL L
CERRLGE W, AL

& 1.9. X7 bba, bz 2L T 5 TMNAH OIS, a, b DIEDRES |a x b
ICHE LW E EBRE, 2

*1 AOAB Dfiflint 1 (0OA DEE) x (OB OR &) xsind THB I & (7L 0 = ZAOB), Wiiolk
Ha-b=|al|blcosd & =MAMMDIE sin 0 + cos? 0 = 1 % H\TRE,

*2 PR 1.8 kD, a & b % 2L T 3 FETUIEOmRE /a2 b2 — (a-b)2 K%L\ (ZAFolH
Bo26%). X7 a, b ZRAERL, laxb?=(axb) - (axb)|al?b?—(a-b)? »EL
W2 ERRY,




